GOVERNMENT TENDER NOTICE

Notice Inviting Tender Nos.89,90,91,92,93 & 94/SERI/PCR/Nadia/2017-'18.

Sealed quotations are invited by the Executive Engineer, Directorate of Textiles (Sericulture). West Bengal, 45, Ganesh Chandra Avenue (2nd floor), Kolkata-13 for Constructional works in Nadia district from the enlisted contractors of P.W. Deptt. (Elec.), CB Directorate, as well as from the bonafide experienced and resourceful outside contractors having experience in such type

of works in Govt. Department / Zilla Parishad.

NIT No.	Name of the Work.	Name of the Work. Estimated Cost Money		Place of Work.	Time of completion of work.	
89/	Repairing of Doors & window of Rearing House No.1 & 2 with over-head Tank on Security Qtr. including water supply arrangement at Karimpore Sericulture Complex. Nadia under P.C.R.	Rs.3,00,396/- (Rupees three llakh three hundred ninety six) only.	Rs.7,510/- (Rupees seven thousand five hundred ten)	Karimpore Sericulture Complex, Nadia	I(one) month from the date of issue of Work Order.	
90/	Repairing of Roof of old Pump House including allied works at Ranaghat Sericulture Complex, Nadia under P.C.R.	Rs.1,62,948/- (Rupees one lakh sixty two thousand rine hundred forty eight)only	Rs.4,075/- (Rupees four thousand seventy five)only	Ranaghat Seri. Complex, Nadia.	-do-	
91/	Repairing of doors & window of Reeling House Nos.1 & 2 with pueca plat form at Shibnibas Scriculture Farm, under P.C.R.	Rs.4,74,818/- Rupees four lakh seventy four thousand eight hundred eighteen) only.	Rs.11,890/- (Rupees eleven thousand eight hundred ninety) only.	Shibnibas Sericulture Farm, Nadia.	-do-	
92	Repairing of 2(two) Nos. Gr'D' Qtrs. and I(one) No. Demonstrators Qtr. with connecting road at Shibnibas Sericulture Farm. Nadia under P.C.R.	Rs.4,25,042/- (Rupees four lakh twenty five thousand forty two) only	Rs.10,626/- (Rupees ten thousand six hundred twenty six) only.	-(10-	-do-	
93/	Renovation & Re-arrangement of inside Office Building of the Deputy Director of Textiles(Seri). Krishnagar Nadia under P.C.R.	Rs.4,98,614/- (Rupees four lakh ninety eight thousand six hundred forteen) only.	Rs.12,465/- (Rupees twelve thousand four hundred sixty five) only	O/o, the Deputy Director.Textiles (Seri),Krishnagar Nadja.	-do-	
94/	Post construction of Anti-termite treatment for Office Building of the Deputy Director of Textiles(Seri). Krishnagar Nadia under P.C.R.	Rs.89,194/- (Rupees eighty nine thousand one hundnred ninety four) only.	Rs.2,230/- (Rupees two thousand two hundred thirty) only.	-40-	-do-	

The quotation Papers (N.I.T., Schedule of Works, & Form: 2911(i/ii) etc.) may be obtained/downloaded from *seriwbgov.org* at free of cost. Duly filled quotation to be submitted/dropped in the Box kept at Head Quarters. Kolkata and papers should be arranged in the following manner.

Envelope - I, should be superscribed as Technical Bid for N.I.T. No......., Sl.No..... of Work. Name of the Agency and it should contain copy of Self Attested i) PAN Card. (ii) Last I.T. Return. (AY 2016-17) (iii) GST IN Registration Certificate which is valid for the current period, (iv) Professional Tax Clearance and Challan for the last financial year, (v) Credential for Similar nature of work at about 60% of Tender value). the Pesticide License is required for NIT No.94 and E.M.D. Sealed.

2(two) Envelopes as noted above (I & II) should be put in a bigger Envelope and sealed. Agency should write clearly N.I.T. No..... Name of Work, SL. No. and Name of Agency on this Envelope and drop the same as per scheduled mentioned in this N.I.T.

Last date and time of submission of Tender	21-03-2018 at 3-00 P.M. at Headquarters, Kolkata.
Date of opening of Tender	21.03.2018 after 3-30 P.M. at Headquarters, Kolkata.

Technical Bid will be opened first. Financial Bid will be opened only if the Technical Bid is found acceptable.

Labour Cess will be deducted from Bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal 45, Ganesh Ch. Avenue (2nd floor). Kolkata - 700 013 on any working days and in website: seriwbgov.org.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Demand Draft / Bankers Cheque of a Nationalized Bank will be considered.

The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. If any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest Tender is not obligatory.

Notwithstanding anything contained in this N.I.T., the general and other terms and conditions will be binding upon all concerned.

Executive Engineer,
Directorate of Textiles(Sericulture),
West Bengal.

Memo.No: 40 57 (3) /ENG/CIVIL/PCR/3 (Vol.-4),

Dated, 2018.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Textiles (Sericulture), Krishnagar, Nadia.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.

2. The Website of this Directorate of Textiles (Scriculture), West Bengal

Directorate of Textiles (Sericulture),
West Bengal.

Priced schedule for renovation and re-arrangement of inside of office building at Deputy Director of Textiles (sericulture), Krishnagar, Nadia under P.C.R.

Sl.No.	Description of item	Quantity	Unit	Rate (Rs.)	Amount(Rs.)
1.	Dismantling artificial stone flooring upto 50 mm.thick by	190.00	Sqm	50.00	9500.00
	carefully chiselling without damaging the base and	<			
	removing rubbish as directed withina lead of 75 m.			- 4	
	a) In ground floor including roof.				
2.	Stripping off worn out plaster and raking out joints of	71.00	Sqm	19.00	1349.00
	walls, ceilings etc. upto any height and inany floor				<
	including removing rubbish within a lead of 75m as directed.				
2		12.00	C	110.00	4420.00
3.	Labour for taking out door and window frame including shutter for repair or replacement of different parts of the	12.00	Sqm	119.00	1428.00
	frame & refixing the same including mending good all				
	damages complete. (Concrete and brick work for				
	mending damage will be paid separately) Upto area 2.5 Sq.m				
4.	Labour for taking out existing aluminium profile made				
4.	partition with laminated particle board and glazed,				
	dismantling by parts and reassembling and refitting the				
	same at another room of the building with old fittings but				
	with new screws as necessary.			4	
	i) Carpenter-	2	Head	326.00	652.00
	ii) Carpenter ordinary-	16 16	Head	296.00	4736.00 4320.00
	iii) Carpenter helper-	//			
5.	Wood work in door and window frame fitted and fixed in	0.161	Cum	87222.00	14043.00
	position complete including a protective coat of painting at the contact surface of the frame excluding cost of	<			
	concrete, Iron Butt Hinges and M.S clamps. (The quantum				
	should be corrected upto three decimals).				
	(e) Sal : Malaysian				
6.	Supplying, fitting and fixing M.S. clamp for door and	20	Each	25.00	500.00
	window frame made of flat bent bar, end bifurcated, with				
	necessary screws etc. by cement concrete (1:2:4) as per				
	direction.				
	40mm. X 6mm. 200mm. Length.				
7.	Panel shutters of door and window, as per design (each	3.60	Sqm	2789.00	10040.00
	anel consisting of single plank without joint), including	<			
	fitting and fixing the same in position but excluding the				-
	cost of hige and other fittings.				
	35mm thick shutters with 19mm thick panel.				
8.	Shisu, Gamar, Champ, Badam, Bhola, Mogra, Hallak Shutters of 2/3rd panel and 1/3rd glazed of doors and	2.50	Comment	2045.00	7645.00
0.	windows as per design (each panel consisting of a single	2.50	Sqm	3046.00	7615.00
	plank without joint and with ordinary glass of 7.4kg. Per				
	sq.m./3mm thick) fitted with putty bed and teak wood				
	beads and nails including fitting and fixing shutters in position but excluding the cost of glass, putty, teak bead,				
	nails, hinges etc. and other fittings in ground floor. hinges				
	and other fittings in ground floor.				
	35mm thick shutters with 19mm thick panel.				
0	Shisu, Gamar, Champ, Badam, Bhola, Mogra, Hallak.	15.00	6	270.00	4405.00
9.	Supplying fitting and fixing in position approved P.V.C. door frame (Matt finish) made of extruded P.V.C.	15.00	Sqm	279.00	4185.00
	multichamber hollow section having dimensions 60mm x			/	
	50mm x 2mm (+/- 0.2mm), horizontal section will be				
	joined with vertical section by galvanized steel screws				
	after inserting two number steel brackets as reinforcement				
	making suitable space for placing hinges, one steel tube	1			
	40mm x 20mm x 1.20 mm will be inserted on one full				
	vertical side of the frame (hinge side) as reinforcement,				
	the frame will then be fixed in the opening with the help of				
	P.V.C. expandable fastener/wooden gutties and				
	galvanized steel screws including cost of all materials and				

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

	labour, hire charges of tools and appliances, carriage of				
	all materials, taxes and all other incidental charges				
	complete.				
10.	Supplying fitting and fixing P.V.C. door shutter of	450		2010.00	
10.	approved quality & shade in position, the style & rail of	4.50	Sqm	2348.00	10566.00
	the P.V.C. door shutter will be made of rigid P.V.C.			_	
	multicavity hollow chamber of 59 mm x30 mm section				
	with 2.0 mm (+/-0.2 mm) wall thickness. Horizontal &				
	vertical section shall be fixed to each other by self tapping				-
	screws and 1 solid polymeric or M.S. galvanized tubular				
	'L' shaped bracket 100mm x 200Labour for taking out				
	door and window frame including shutter for repair or				
	replacement of different parts of the frame & refixing the				
	same including mending good all damages complete.				
	(Concrete and brick work for mending damage will be				
	paid separately)Upto area 2.5 Sq.mm in each corner of				
	the shutter frame for placing hinges. Polymer based				
	multicavity hollow section of 120 mm x30mm with 2.0 mm				
	(+/- 0.2 mm) wall thickness will be fitted in the middle,				
	reinforced by solid polymer bar of 200 mm long at both				
	ends and screws from both sides as lock rail. The section				
	frame will then be fitted in by PVC panels of size 100				
	mmx25mm with wall thickness of 1.2 mm (+/- 0.2 mm)				
	and 2 nos. of 6 mm dia bright rod will be inserted horizontally with both side check and nut system and				
	stretches where fixing of hinges / hasp bolt / tower bolt /				
	door ring are required to be strong enough to with stand				
	wear and tear. The rate is inclusive of cost of all				
	materials, labour, and hire of tools and plants and				
	appliancesi/c carriage of all materials taxes and all other				
	incidental charges complete.				
11	Iron butt hinges of approved quality fitted and fixed with	23	Each	47.00	1081.00
	steel screws, with ISI mark.	1		1	1001.05
	100mm. X 58 mm. X 1.90mm.				-
12.	Plaster (to wall, floor, ceiling etc.) with sand and cement	36.00	Comme	100.00	
	mortar including rounding off or chamfering corners as	36.00	Sqm	180.00	6480.00
	directed and raking out joints including throating, nosing			_	_
	and drin course coeffeign (starting) including throating, nosing				2
	and drip course scaffolding/staging where necessary				
	(ground floor). [Excluding cost of chipping over concrete				
	surface]				
	With 1:4 cement mortar				
	20 mm. thick plaster.				
13.	Priming one coat on timber, plastered surface with	50.00	Sqm	38.00	1900.00
	synthetic oil bound primer of approved quality including	_			
	smoothening surfaces by sand papering etc.			_	/
14.	Priming one coat on steel or other metal surface with	48.00	Cam	20.00	1202.00
	synthetic oil bound primer of approved quality including	48.00	Sqm	29.00	1392.00
	smoothening surfaces by and nenering at	<			1
4.5	smoothening surfaces by sand papering etc.				
15.	Painting with best quality synthetic enamel paint of	50.00	Sqm	81.00	4050,00
	approved make and brand including smoothening surface by sand papering etc. including using of approved putty			6	4
	etc. on the surface, if necessary (a) On timber or plastered surface		/		
	With super gloss (hi-gloss)				
	Two coats (with any shade except white)				
16.	On steel or other metal surface	48.00	Sqm	79.00	3792.00
	Two coats (with any shade except white)	70.00	Julii	13.00	3/3200
17.	Supplying and laying true to line and level vitrified tiles of	185.00	Sqm	1266.00	2,34,210.00
	approved brand (size not less than 600 mm X 600 mm X		- qiii	1200.00	2,34,210.00
	10 mm thick) in floor, skirting etc. set in 20 mm sand			4	
	cement mortar (1:4) and 2 mm thick cement slurry back				
	side of tiles using cement @ 2.91Kg./sgm or using				
	polymerised adhesive (6 mm thick layer applied directly				
	over finished artificial stone floor/Mosaic etc without any				
	backing course) laid after application slurry using 1.75 Kg				
1	of cement per sqm below mortar only, joints grouted with				
1	admixture of white cement and colouring pigment to				
	moren with colour of tiles /				
	match with colour of tiles / epoxy grouting				
	materialsofapprovedmakeasdirectedand removal of wax				
	materialsofapprovedmakeasdirectedand removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror				

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

18.	finish completeincludingthecostofmaterials, labourand allother incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor 16 Supplying and laying true to line and level vitrified tiles of approved brand (size not less than 600 mm X 600 mm X 10 mm thick) in floor, skirting etc. set in 20 mm sand cement mortar (1:4) and 2 mm thick cement slurry back side of tiles using cement @ 2.91Kg./sqM or using polymerised adhesive (6 mm thick layer applied directly over finished artificial stone floor/Mosaic etc without any backing course) laid after application slurry using 1.75 Kg of cement per sqM below mortar only, joints grouted with admixture of white cement and colouring pigment to match with colour of tiles / epoxy groutmaterialsofapprovedmakeasdirectedand removal of wax coating of top surface of tiles with warm water and polishing the tiles using soft and dry cloth upto mirror finish completeincludingthecost of materials, labourand allother incidental charges complete true to the manufacturer's specification and direction of Engineer-in-Charge. (White cement, synthetic adhesive and grout material to be supplied by the contractor. (I) With application slurry @1.75 kg/ Sq.m, 20 mm sand cement mortar (1:4) & 2 mm thick cement slurry at back side of tiles, 0.2 kg/ Sq.m white cement for joint filling with pigment. (A) Light Colour Applying interior grade Acrylic Primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface thoroughly, complete as per manufacturer's specification and as per direction of the EIC. One coat	1180.00	Sqm	30.80	36,344.08.00
19.	Acrylic Distemper to interior wall, ceiling with a coat of solvent based interior grade acrylic primer (as per manufacturer's specification) including cleaning and	1180.00	Sqm	70.00	82600.00
	smoothening of surface. Two Coat.				r .

TOTAL=Rs.4, 40,783.00

Add G.S.T. @12% (+) = Rs. 52,894.00

(C.G.S.T 6%+S.G.S.T6%) _TOTAL=Rs. 4, 93,677.00/

Add Labour welfare cess @ 1 %(+) =Rs. 4,937.00

TOTAL=Rs.4, 98,614.00

Executive Engineer
Directorate of Textiles (Sericulture,
Government of West Bengal